Operations with Two Fractions (E)

Score:

Name: Date:
Calculate each result.

1 11 — = 11 L_3 _
2 8 - 2 8
2 lé X = 12 1><z =
275 B 278
3 %E X = 13 2><2 =
97 B 375
. 24l + = 4 2x =
72 - 1575
5 4+5 + = 15 2><1 =
7 14 N 373
. 1 1 B 161,7_
3 9 N 3716
7 4 1 — 17 11 —
9 3 N 98
8 1+1 + = 182 0 _
23 N 3713
9 2 1 = 19 2+8 =
3 18 N 5 15
10 2X3 20 1+1 =
775 35
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Operations with Two Fractions (E) Answers

Name: Date: Score:
Calculate each result.
L 11 4 1 _ 3 L 13 _ 4 3 _
2 8 8 8 8 2 8 8 8
L L3 L s s b L7 o 7
275 273 6 278 16
, 2.3 2,7 _ 14 s 2422 A
9 7 973 27 375 15
42+1 4+7—11 14£Xl— i
72 14 14 14 1575 75
 iy5_ 8,5 1B 21 2
7 14 14 14 ~ 14 373 9
61_1 3.1 _ 2 161_7_1)(16_
39 9 9 9 316 377
7f_1 4 3 1 171,1_1)(8_
9 3 9 9 9 9°8 971
23 6 6 6 3713 379
o 21 12 1 _ U o 243 20,8
3 18 18 18 18 "5 15 15 15
o 2y 3 6 o L1 _ 5.3
775 35 35 15 15
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